
In this example, a 45 pip price projection has been 

calculated.  When there are two matching lows 

below the supply line as in this instance, I would 

choose the candle that is not touching the supply 

line. Why, because price maintaining the same low as 

the supply line tightens signifying consolidation, 

price can’t break the low so a reversal is expected. 

In this trade a price projection of 45 pips has 

been calculated, thus it falls into the stop 

loss method for trades with less than 50 pip 

price projection. You would take 50% of the 

price projection to calculate your stop.  In this 

case it will be 22.5 rounding up creating a 23 

pip stop loss on  a 45 pip trade…














